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] 100kN/m%#8%%| 1.00| 000 ~ 0.1 100.13 [3mZE# x5 - ~ - - —| 100kN/m%#8%%| 1.00 [10.68 ~ 10.70 100.13 [3mZE# x5 - ~ - - -
ThES 1.00 | 001 ~ 7.79 10000 | #hkist | 000 ~ 7.79 | 2.28 12.18 zhst 1.00 | 500 ~ 10.68 100.00 | #hList | 5.00 ~ 10.70 | 2.28 12.18
) 100kN/m%#8%%| 1.00[| 000 ~ 0.15 102.13 [3mZE# x5 - ~ - - —| 100kN/m%#8% 5| 1.00 [10.82 ~ 11.20 102.13 [3mZE# x5 - ~ - - -
ThES 1.00| 015 ~ 7.93 100.00 | #hkist | 000 ~ 7.93 | 2.31 12.37 zhst 1.00 | 500 ~ 10.82 100.00 | #hLlst | 5.00 ~ 11.20 | 2.31 12.37
3 100kN/mMZ#8 % % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ZThLS 1.00 | 000 ~ 755 96.58 | #hList | 000 ~ 755 2.38 12.74 zhst 1.00 | 500 ~ 10.60 96.58 | #hLi4t | 500 ~ 10.60 [ 2.38 12.74
4 100kN/mMZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
ZThLS 1.00 | 000 ~ 6.30 7920 | #hlist | 000 ~ 630 2.15 11.49 zhst 1.00| 500 ~ 9.90 79.20 | #h it | 500 ~ 990 | 2.15 11.49
5 100kN/mMZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mZERBZB -~ — — —
ZThLS 1.00 | 000 ~ 7.31 9320 | #hlist | 000 ~ 7.31 (| 1.91 10.23 zhst 1.00| 500 ~ 9.90 9320 | #hlist | 500 ~ 9.90 | 1.91 10.23
6 100kN/mMZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ZThLS 1.00 | 000 ~ 6.39 80.41 | #hlist | 000 ~ 6.39 | 2.00 10.73 zhst 1.00 | 500 ~ 8.60 80.41 | #hist | 500 ~ 860 | 2.00 10.73
. 100kN/mMZ#8% % — -~ — —|(3mZEiBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ZThLS 1.00 | 000 ~ 7.35 9379 | #hlist | 000 ~ 7.35( 1.79 9.58 zhst 1.00| 500 ~ 950 93.79 | #hli4t | 500 ~ 950 | 1.79 9.58
8 100kN/m%#8%%| 1.00] 000 ~ 0.35 105.23 [3mZE# x5 - ~ - - —| 100kN/m%#8%%| 1.00 [10.55 ~ 11.50 105.23 [3mZ# x5 - ~ - - -
ThLS 1.00| 035 ~ 8.14 10000 | #hkist | 000 ~ 8.14 | 222 11.86 zhst 1.00 | 500 ~ 1055 100.00 | #+hLlst | 5.00 ~ 1150 | 2.22 11.86
9 100kN/mMZ#8 % % — -~ — —|(3mZiEBZ D -~ — - —| 100kN/mM%E#B 2z % — -~ — —|3mERBZB -~ — — —
ThLSH 1.00 | 000 ~ 7.35 9376 | #hlist | 000 ~ 7.35| 1.93 10.33 zhst 1.00| 500 ~ 11.10 93.76 | #hLi4t | 500 ~ 11.10 | 1.93 10.33
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#BZ % ~ ImERZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
ThLS ~ ZzhLst ~ zhst ~ ZzhLst ~
100kN/MZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ThLS ~ ZhLst ~ zhst ~ ZhLst ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
TS ~ Zh st ~ Zh st ~ Zh st ~

iy
H
T



